
𝑦 =
𝑎𝑥௠

𝑏𝑥௡
⎯⎯⎯⎯

𝑚 > 𝑛       𝐻𝐴:    𝑛𝑜𝑛𝑒
𝑚 < 𝑛       𝐻𝐴:  𝑦 = 0      𝑜𝑟      𝐻𝐴:  𝑦 = 𝑐

𝑚 = 𝑛       𝐻𝐴:  𝑦 =
𝑎

𝑏
⎯⎯      𝑜𝑟     𝐻𝐴:  𝑦 =

𝑎

𝑏
⎯⎯+ 𝑐

𝑦 =
𝑥ଵ

𝑥ଶ
⎯⎯⎯ 𝑦 =

𝑥ଵ

𝑥ଶ
⎯⎯⎯+ 1

Case 1:

Case 2:

Case 3:

If the exponent of 𝑥 is higher 
on the top than the bottom

If the exponent of 𝑥 is higher on the bottom If case 2 is shifted up or down =  𝑐

If the exponent of 𝑥 is the same on the top as the bottom

𝐻𝐴:  𝑦 =  𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡𝑠

If case 3 is shifted up or down = 𝑐

𝐻𝐴:  𝑦 =  𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡𝑠 +  𝑐

𝑦 =
4𝑥ଶ

1𝑥ଶ + 2
⎯⎯⎯⎯⎯⎯⎯ 𝑦 =

4𝑥ଶ

1𝑥ଶ + 1
⎯⎯⎯⎯⎯⎯⎯+ 1

𝐻𝐴:     𝑛𝑜𝑛𝑒𝑦 =
𝑥ଷ

𝑥ଵ
⎯⎯⎯

𝐻𝐴:  𝑦 =
4

1
⎯⎯

𝐻𝐴:  𝑦 =
4

1
⎯⎯+ 1 = 5

𝐻𝐴:  𝑦 = 0 𝐻𝐴:  𝑦 = 𝑐

𝑥ଵ

𝑥ଶ
⎯⎯⎯+ 1 =

1𝑥ଵ + 1𝑥ଶ

1𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

4𝑥ଶ

1𝑥ଶ + 1
⎯⎯⎯⎯⎯⎯⎯+ 1 =

5𝑥ଶ + 1

1𝑥ଶ + 1
⎯⎯⎯⎯⎯⎯⎯

𝐿𝐶𝐷

𝐿𝐶𝐷

𝑦 = 1
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